
9
0

0

1
0
0
0

1
1
0
0

1
2
0
0

1300

1
4
0
0

1

5

0

0

K

Ł
 
k
m

 
0
+
7
3
0
.
4
2

P

Ł
 
k
m

 
0
+
7
4
5
.
8
5

K
Ł

 
k

m
 
0

+
7

8
5

.
7

5

P
Ł

 
k

m
 
0

+
7

9
3

.
7

7

K
Ł

 
k

m
 
0

+
8

1
7

.
2

4

Z
-
2

 
k

m
 
0

+
9

3
3

.
9

4

P
Ł
 
k
m

 
0
+
9
6
7
.
8
2

K

Ł
 
k
m

 
1
+
0
0
1
.
5
9

P
Ł
 
k
m

 
1
+
0
1
4
.
1
1

K
Ł

 
k

m
 
1

+
0

4
0

.
2

1

Z
-
3

 
k

m
 
1

+
0

7
7

.
3

3

P
Ł
 
k
m

 
1
+
2
6
1
.
1
2

K
Ł

 
k

m
 
1

+
2

7
6

.
7

4

P
Ł

 
k

m
 
1

+
3

5
7

.
3

3

K
Ł
 
k
m

 
1
+
3
8
0
.
1
6

P
Ł
 
k
m

 
1
+
4
4
7
.
5
7

K

Ł

 
k

m

 
1

+

5

0

6

.
6

9

W
-
4
 
k
m

 
0
+
7
6
5
.
8
2

W
-
5

 
k

m
 
0

+
8

0
5

.
5

1

W

-
6
 
k
m

 
0
+
9
8
4
.
7
1

W
-
7

 
k

m
 
1

+
0

2
7

.
1

8

W
-
8

 
k

m
 
1

+
2

6
8

.
9

3

W
-
9
 
k
m

 
1
+
3
6
8
.
7
5

W

-
1

0

 
k

m

 
1

+

4

7

7

.
1

7

W - 4

km 0+765.82

N 5881294.70

E 5511864.30

a 6.53^ Right

T 19.97

L 39.90

R 350.00

Z 0.57

W - 5

km 0+805.51

N 5881320.22

E 5511894.75

a 2.24^ Left

T 11.73

L 23.46

R 600.00

Z 0.11

Z - 2

km 0+933.94

N 5881406.51

E 5511989.89

a 1.40^ Left

W - 6

km 0+984.71

N 5881441.52

E 5512026.64

a 1.93^ Left

T 16.88

L 33.76

R 1000.00

Z 0.14

W - 7

km 1+027.18

N 5881471.84

E 5512056.39

a 7.48^ Right

T 13.07

L 26.10

R 200.00

Z 0.43

Z - 3

km 1+077.33

N 5881502.79

E 5512095.90

a 2.30^ Right

W - 8

km 1+268.93

N 5881614.77

E 5512251.37

a 1.49^ Left

T 7.81

L 15.62

R 600.02

Z 0.05

W - 9

km 1+368.75

N 5881675.19

E 5512330.82

a 2.18^ Right

T 11.42

L 22.84

R 600.00

Z 0.11

W - 10

km 1+477.17

N 5881737.50

E 5512419.56

a 6.77^ Right

T 29.59

L 59.12

R 500.00

Z 0.88

k
m

0
+
7
3
8
.
0
7

r
z
.
1
0
3
.
9
3

i=
-3

.8
1%

L=41.0
1m

i
=
-
0
.
6
5
%

L
=
6
7
.
8
6
m

R

=
-
8
0
0
m

T

=
1
2
.
6
2
m

f
=
0
.
1
0
m

km0+805.93

rz.103.49

i=-0.65%

L=67.86m

i=-1.64%

L=108.30m

R=3000m

T=14.76m

f=-0.04m

km
0+914.2

3

rz
.1

01.7
1

i=-1.64%

L=108.30m

i=-3.12%

L=96.46m

R
=2500m

T
=18.5

3m

f=
-0

.0
7m

k
m

1
+
0
1
0
.
7
0

r
z
.
9
8
.
7
0

i=
-3

.1
2%

L=96.4
6m

i=
-1

.6
5
%

L
=
1
5
9
.2

0
m

R
=
-
1
5
0
0
m

T
=
1
1
.
0
6
m

f
=
0
.
0
4
m

k
m

1
+
1
6
9
.9

0

rz
.9

6
.0

8

i=
-1

.6
5
%

L
=
1
5
9
.2

0
m

i=
-0

.0
5
%

L
=
6
1
.3

1
m

R
=
-2

0
0
0
m

T
=
1
5
.9

3
m

f=
0
.0

6
m

k
m

1
+
2
3
1
.2

1

rz
.9

6
.0

5

i=
-0

.0
5
%

L
=
6
1
.3

1
m

i=
-0

.9
5
%

L
=
8
6
.7

0
m

R
=
3
0
0
0
m

T
=
1
3
.4

9
m

f=
-0

.0
3
m

km
1+317.91

rz.95.22

i=
-0

.9
5
%

L
=
8
6
.7

0
m

i
=
-
4
.
4
3
%

L

=
8

7

.
3

9

m

R=1000m

T=17.38m

f=-0.15m

k
m

1
+
4
0
5
.3

0

r
z
.9

1
.3

5

i
=

-
4

.
4

3

%

L

=

8

7

.
3

9

m

i=2.97%

L=108.87m

R
=
-1

0
0
0
m

T
=
3
7
.0

3
m

f=
0
.6

8
m

R

I

I

I

b

P

s

I

I

I

R

I

V

a

R

I

V

a

B

r

-

R

I

V

a

R

I

I

I

b

R

I

V

a

R

I

I

I

a

R

I

V

a

R

I

I

I

b

R

I

I

I

b

R

I

I

I

b

R

I

I

I

b

R

I

I

I

a

P

s

I

I

I

P

s

I

I

I

P

s

I

I

I

B

r

-

R

I

I

I

b

d

r

d

r

S

-

R

I

V

a

S

-

R

I

I

I

b

d

r

B

S

-

R

I

I

I

b

B

B

B

g

g

i

i

2

i

i

m

2

m

2

m

2

m

m

m

2

7

5

/

1

7

8

/

1

7

8

/

2

7

7

3

6

4

3

6

9

3

6

8

3

6

7

3

7

0

3

6

6

3

6

5

7

9

7

4

/

1

7

1

6

9

/

2

6

8

6

7

1
4

15

1
7
/1

1
7
/2

1
6

1
3

1

0

1

4

0

1

0

1

5

0

P

s

I

I

I

R

I

I

I

b

P

s

I

I

I

R

I

I

I

a

R

I

I

I

a

3

7

1

3

7

1

Ł

ą

c

z

y

 

a

r

k

u

s

z

 

n

r

 

3

Ł

ą

c

z

y

 

a

r

k

u

s

z

 

n

r

 

2

Ł

ą

c

z

y

 

a

r

k

u

s

z

 

n

r

 

3

Ł

ą

c

z

y

 

a

r

k

u

s

z

 

n

r

 

2

7

1

B

r

-

R

I

I

I

b

B

3

6

4

S

-

R

I

I

I

b

3

7

0

d

r

7

5

/

2

d

r

3

6

6

A

r

k

u

s

z

 

n

r

 

2

,

3

A

r

k

u

s

z

 

n

r

 

3

,

4

,

5

A

r

k

.

5
A

r

k

.

6

A

r

k

.

1

A

r

k

.

2

A

r

k

.

3

A

r

k

.

4

A

r

k

.

5
A

r

k

.

6

Arkusz nr 2,3


